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General Instructions to the Cand@

ib, eflfleurs eflenweafl&@id cuamaulgb o drerg.

gsriu’@erer GOl sGer @pigeureng).
16 Question paper is printed in Tamil and English versions. In all matters and in cases of
doubt English Version is final. : .
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wHUQuaTsET eEIEsLILIL eSldeme.
There is no reservation of marks for neatness of execution and correctness of spelling in
respect of this paper.
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Gfley — <
SECTION — A
(Bl&& Pl el elewalidgh elenm aues)

(Very Short Answer Type)

@,rﬂ:.}q: i) gaGarahp@n 30 AerpaErsd Wamod eflenL_waflésa,id.
Note : Answer not exceeding 30 words each.

i)  gaQarmdameip@Eb aperp HUQLSTSET.

Each question carries three marks.

iil) Qar@ssiul(Herer pUILSOSHS eflenrssafiay amm@u@ ;

Answer any thirt; estions only out of &

b 5L SHen apsuggiaud wrg?

GrGLaR
&a& significance of the Regulation XVII?

2. f;ijg;né) Sarr&d upih GOILIY SH5.

Give an account of Santhal risings.

3/ 183310 gpeimr(® UL wi &L FEe ap&diu mglmér Qauafi&Qamenia -
Bring out the important provisions of Charter Act of 1833.

uestions.

@55E

(30 x 3=80)

e = T 3 =2 mm



‘ 4/ 558 Quisssglen pe&dlu apiser wWrenal?

What are the important features of Suddhi movement?

% G- SlSLoTLSMSET eTemLIeUTEET WTi?
Who were Khudai Khidmatgars?

joff Gemen uiert uHH GO SHS.

Give an account of Amar Sonar Bangla.

9,/ @BHALT @@ sww sTTLHP HIH ey e SipEsILIGADS?
Why is India called a secular state?

10. ,

‘ssSundlysn’ — euenywim.
Define ‘Satyagraha’.
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g Slend “Coirg L euiq G560 HiraT” arenpenpEaILL 57 Gen?

Which day was called as the day of “Direct Action” and why?

/LZ. 1933 1b yamgan Qeuctanars e Siflsmas GHlss BelliT <ifleug wng?

What do you understand by White Paper of 19337

13. @@ el ana 5o e b, 4 3 Deneng. pésd GeTHensE

ambl 2_erer seuflem LTLILITENg), &6, D, @eTSHlen 2T SIS,

A circular swimming pool is surrounded te wall of 4 ft wide. If the area of the

circular wall surrounding the@@tha of the pool, find the radius of the pool?

LIG‘IT (m Glun@m 10% peigLgHe elpaiiuiLg. Gmgum 5% efleney @GerpSsLILILL M,
a‘.ﬂmsuuu_) (<=1) el eflemen eremen?

m costmg Rs. 200 is being sold at 10% loss. If the price is further reduced by 5%. What
will be the selling price?

1{ o Qssicussean peoaeiLib 17 Qe.18. sigdr sppearey 46 Qe.i5. craflé Sigen LFULETEGUS SIS,

The diagonal of a rectangle is 17 cm long and its perimeter is 46 cm, find the area of the
rectangle. _
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16.

17.

N

22,

a0 araits ugdler saey 15% afsfsdps. e 8% G@péng araley, a:;_mr m@uq — sraﬂsu

o _ameniniLimer Genen WL IenLI ETeims.

If the numerator of a fraction be increased by 15% and its denominator be diminished by 8%,

the value of the fraction is —i—g— . Find the original fraction.

yeref efupgHe eflendsts uL SHlam uemssdr TCSEUD APETEDDE sa)is.
Mention any three diagrammatic representation of statistical data. p!

S auananliL(égiI5alane « LGS ST Wrene? e@
What are the various parts of tabulation? 6 |

flapsseien elsemer mgus.
State the axioms ofg B

&, 53 @rruﬁ] Do SlpeoseT aumaSHETE Papsaey erenen?
the probability that a leap year selected at random contains 53 Sundays?

srey sisymdluflen Liwie ereen?

What is the use of data dictionary?

o wirflene Qumfisefiar aimssmer LW G galaraPhEh e sred SGHs.
List the types of high level languages and give an example for each.
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UNIT III I

4 yefluSitiy apGéas whidman LTéEd srrafllsmer GHILAGS.

Name the factors which affect the value of acceleration due to gra.\vity._

24. paSwE eranLgl WTg? ismen ellaTéEs.

/ What is Xerography? Explain it.

25/ SMHBSIHETSHET GTETDITED G

0°

26. HTHEEMET 2 , DO HHLD UMSSD (PenDEDET CaupuBssis.

What are black holes?

' %ﬁ calcination and roasting of the concentrated ore.

27,/ H,PO,, H,PO, wppi> HPO, =l urdureder ybad siderisemar saupflar sufas
- garewwen @piig auflamsdo aflosiupsss. .

Arrange the following oxy acids of phosphorous in decreasing order of acidity H;PO,, H,PO,
and H,PO;.

7 GS-1/16
[muys/Turn over




28/ Gloflaa weam_wss o drar 2 pusSurariaemans updl Hmn GHlLY auemrs. -1

Write short notes on producers in an ecosystem.

29. KCym GLnQemsses ‘e ulflar Qupu Siglitienl " eren gen SienwsstiuBdng?

Protoplasm is the physical basis of life — Why?

¥

_ 6‘;
e

T o T

30. “iggm” GemraSlig el LIGHTLSENET (LS.

: Write the features of “Ti” plasmid.

B SENeTdH Gais.

nefits of PUFA.

3 ﬁgmm Grenmed erenan? @lgLiLipsssSlen gGaab apann U sEamar LU gwedl([Hs.
hat is alcoholism? List any three characteristics of alcoholism.

34. HTTP eranpre eremen?
What is HTTP?

35. ‘Guwlee QsmM’ e erenan?

What is meant by ‘Ecological Succession’?

GS-1/16 8




Gfley — <=y
SECTION — B
(sm&swrs e weflEGh eflam euens)
(Brief Answer Type)
@olny : li) geuGeuny ellamalpE 120 Q-swmsig_géé Wlsmioe eflen_weli&sab,

Note : Answer not exceeding 120 words.

e

'-Mv
&

gaGeaurm elamailpEh i@ wHubuamrser. 4

Each question carries eight marks.

EH5G

(15 x 8 =120)

38. aren.ig.aren. (S-T-8) wss spdrbd updl erpgis.
Write about S-T-S War Strategy.

.‘y Caflw usdismaeaurdurs urygurt HHiu RS samns.
Write a brief note on the contribution of Bharathiar as a Patriotic Journalist.

9 ° GS-1/16
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/to.’ Wit ‘SOPBT g &1 (rGET aaenESLILILLTT? gar?
Who was called as “Rousseau of Tamil Nadu™? Why?

y./ Qeenenen argen senLiuien Wpafluiggieud wng?
What was the significance of Madras Mahajana Sg‘oha?

UNIT II l

427 em euie em mumnl, @rear® @urruh.. ®HS GUTL Brevrukised aamefisems 5 1 T :
délgsfeo o araran. pravumsefier Qurss wHiy . 395 aafle), gea@eaurm was
TRl EENE CTELCIETR CTEITS SHITENTS.

A bag contains one-rupee, two-rupee, and five-rupee coins in the gati - ounting to
Rs. 395. Find the number of cg ""7 ach type. 6

7 ,l"

ereucuaTey? @ram(p eumLSHDE (s

The population of a town is 176400. If se8 annually at 5%. What will be its population
2 years hence? What was it 2ge :

'479@ parsHen wesar QAgnans 1 6400

7 ugeus Glesueus au

@ranp S (aar 52 F Qsdr ceer gL A slyd @by swamblyder PEDLTE
2 meuliu_Pereng) eraflen £Cip 2 ereraupenp QupieughaTer Hlapsse sansdl@. (1) @O @Lwwean®
(diamond) wpmib @ori (heart) () @@ TrRT @@ Trexfl () Qrew(® @qn&n&sﬁ?

Two cards are drawn from a pack of 52 cards at random. What is the probability that it will be
a (a) diamond and a heart (b) king and a queen (c) two kings?

46. MICR, OCR wpmw OMR @iilsg awsis.
Write about MICR, OCR and OMR.
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. 47.  qgpuufwres Ligwiisdr upd dfarsss.
E- Explain Holograms.

48. @EPHlLY umTs:
(=) Qe Quenle
(=) Sgmew
(@) mewLgs sTiTLen
(/) yeérgnitenser.
Write a noteon : .
(a) Lead pencil
(b) Graphene
(¢) Microcrystalline carb
(d) Fullerene. -

49,

(=)

.Qﬁve notes on :
| diversity

pecies diversity.

/56.' efleme Qewdllar Qeaws s semwlbamear eflerdas.
Explain the cytoskeletal organization of an animal cell.

y @pdwnefigiarer Curangliuwés @ity apennsailan sngameansamen Qeuafls Qamanris.
Highlight the achievements of drug deaddiction programmes in India.
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52. "Quéss @@@@:' eflen Qaweur(sener eflerésons éﬁ}mfﬂésasqm.

Explain the functions of an operating system.

53. Cumume elegeury ghudsHu gy ellenerayser wreneu?

/’Hét were the tragic effects of the Bhopal Gas Tragedy?

Gfley — &)
SECTION — C N

(e9feurs efenwell&@h eflan auans)

@0l : i)
Note :

1)

gaug ddamssaid aeaCumb o daTEsERES
¢ demea gaQarm ugdldEpa Csrpdzdss

Answer any six questions out of nine questions attending atleast

One question from each Unit.

(6 x 15 = 90)

UNITI

54/ pelen @ wpweres uph elflaurs efleTaseayb.
Explain in detail the modern Hindu Renaissance.

GS-1/16 12
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Write a note on the states Reorganisation commission.

i 55, wrflekad wnffemwiy Gupemas upd GHIUY TPss.
|
|

56. 9. bCGusaniien umpéma whmb stgmeanser updl @ ellaréswrear SL_H@T T(HES.

Write a detailed essay about the “life and achievements of B.R. Ambedkar”.

B Qlgeren £Cp Qanpésiiu Gererar. ng'gé, is, 47, 54, 8, 33(33, 42, 55,
- U —— —_— 4——- o *, e

80141, 53, 47, 48, 55, 20,01) @4, 42, 51,85 39, 26, 25

20 , 25 , 2.

3_,,3?,33, 3\;,3<,35"/$
%‘ ‘¢l, a"’?’ l‘tl ! t‘.“

(@) 10 auly B Ceaamenulldr QamTuns eumOmm eTipE. ua, 41, 48, L R - ‘

Marks scored by 30 students are given below 41, 55, 48, 47, 53, 48, 33, 32, 42, 55, 44, 38, 60,

65, 71, 80, 41, 53, 47, 48, 55, 20, 31, 34, 42, 51, 35, 35, 26, 25 S\ & 3‘;’.;5 5% /‘ﬂl
: \ F 2 <

(a) Arrange the marks in Ascending order _ Lo v ] ¢

(b) Arrange the marks as frequency table

(¢) Convert the marks into a continuous series of a class-interval of 10.

GS-1/16
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59.

60.

61.

62.

[ uniT1n |

siflefliwe Ggmfle mlu gopuild Qeubms goarGardasafiar utisefiuy updlubd seupdler Hlap
Gaopsar updluyb ellflens apgis.

Explain the role of artificial satellites in the field of science and technology. Discuss their
merits and demerits.

1
(1) Spssrauarcuperp CaunuBss, 2-smrarnd Fms. ¥

() Qeuliugsred Qer@w wppid Aauliugsnd @miG SlarreigSEsdr

(@) Csréams OO GHES UOUGEET
(i) QuipesSerer mmgj g Qe L gl

(24) FHEUDUILEST TETDTE CTETRI? SIEDE GTEUG UG ESLILELE e

(a) Differentiate the follov
(i) Thermoplastic a_nd them

(i) Addition and condensation er
(iii) Vulcanised and raw

(b) What are co-po

y are classified?

% 2 6T Sienliemub g AFudur@aamenyb eflafl.

e ultra structure of chloroplast and its functions.

oo Qedser crampre erenen? wHSgIe Adsmaiie apa Qrdsaliar uhidlamer llad@s.

What are stem cells? Explain the role of stem cells in medical treatment.

GS-1/16 . 14






